Table Loc Installation Instructions

A
HARWARE INCLUDED:
A (1) Hood w/ Door
B (2) LOCkS (2/16" hook cam, shell, nut, governer,
screw, pl.ug,2 keys) C E D
C (1) Left Side Panel
D (1) Right Side Panel
E (1) Back Panel 8 5
F (1) TableTop P 2 g
G (1) CartTop
H (1) LeftSide CartLeg G
I (1) Right Side Cart Leg J
J (1) Cart Stabilizer H
K (1) Horizontal Bar
L (4) 2" Wheels (2 - Locking, 2 - Non Locking) K
(4) 3/8" Hex Nuts I i
(4) 3/8"Washers L & @L
(4) Lock Nuts
(4) 1/4"Washers
(43) 1/4"Washers
(39) 1/4" Hex Nuts
(22) ¥420X 1Y
TOOLS REQUIRED:
7/16 Wrench
9/16 Wrench
Phillips Head Screw Driver
Hammer
Adjustable Wrench

1. Insert Horizontal Bar (K) into Left Side Cart Leg (H) and Right Side Cart Leg (1). Insert Cart Top (G) into top of Left Side Cart Leg (H) and Right Side Cart
Leg (l). Insert carriage bolts into holes.

2. Add Cart Stabilizer (J) to Left Side Cart Leg (H) and Right Side Cart Leg (I). Attach washers and lock nuts on carriage bolts holding Cart Top (G) together.
Put washers and hex nuts on remaining carriage bolts.

3. Turn entire assembly over. Install Wheels (L) into provided holes using 3/8 washers and nuts to secure. Turn unit over and set on wheels. Attach Table
Top (F) to assembly, making sure slots are in front of assembly. Attach using carriage bolts, nuts and washers through front holes .

4. Place Hood with Door (A) on ground with pem studs facing up. Place Left Side Panel (C) on left side of Hood (A). Attach with washers and hex nuts to
pem studs.

5.Place Right Side Panel (D) on right side of Hood (A). Attach with washers and hex nuts to pem studs.
6.Place Back Panel (E) into Right Side Panel (D), Left Side Panel (C) and Hood (A). Attach with washers and hex nuts to pem studs.
7. Place Top Assembly onto Table Top (F). Attach using carriage bolts through Cart Top (G). Secure with washers and nuts.

8. Place lock collars into holes in Hood (A). Secure using retaining nuts. Place locks into collars with key in vertical position. Attach govener onto locks.
Make sure locks rotate correctly with goveners in position. Left Lock should rotate clockwise and right lock should rotate counter-clockwise.

9. Place cams on locks. Be sure to have openings facing centerof unit. Secure with lock washer and screw.

10. Check to make sure all nuts are tightened.

510 W.Central Ave., Brea, CA 92821 - (800) 872-9562 - (714) 990-3218 - FAX (714) 990-5409 - www.LocDown.com



